MANUAL

GB - Instructions for Mounting
DE - Montageinformation
IT — Istruzioni per il montaggio
ES - Instrucciones para el montaje
FI — Asennusohjeet
FR - Instructions de montage
NL - Montagevoorschriften
PL - Instrukcja montazu
RUS - WHCTpyKUMA MO MOHTUPOBAHMUIO

ARB — <385l ddy 30 o 1)
SE - Monteringsinstruktion
GR - TAnpo@opieg cuvappoAdynong

™

FS011050



Func Bracky

T’

C| Screw Bag

Screw M4x16

Screw M6x16

Screw M6x30

Screw M8x20

Spacer plastic d8,2/D15x10
Spacer plastic d6,1/D15x5
Washer 6,4

Multiple washer

Screw M6x10

Allen Key 4

A| Wall Plate 1
B| Vertical Bar 2
C| Screw Bag 1

NRARDMDNBDMARMAELNAN|IPE

1260 o0

Wl
Unlock 1/4 turn (2x)







Func Bracky

™

www.SmartMediaSolutions.se
SMS Smart Media Solutions AB, Hastholmsvagen 32, SE-131 30 Nacka, +46 (0)8 448 26 60

4

2010-04-18



